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Answer all Questions

Non-Programmable caleulator permitted Time: Three Hours

Q1. a) Distinguish between Diversifiable and Non-diversifiable risk by using real world examples?
{ 04 Marks)
b) The stock of Alpha Ltd. performs well relative to other stocks during recessionary periods. The
stock of beta Ltd.. on the other hand, does well during growth periods. Expected rate of return

of these stocks for the next year are estimated as follows:

Economic condition Return on Return on Probability
Alpha (%) Beta (%)

High growth 05 _ 50 0.3

Low growth 16 30 0.4

Stagnation 20 -10 0.2

Recession 40 -40 0.1

.. Calculate the expected rate of return and standard deviation for the stock of Alpha Ltd.
and stock of beta I.td. separately. .
i.  Calculate the coefficient of variation for both stocks.
. If youare an investor, which company you would sclect for the investment?
( 09 Marks)
¢) The risk [ree rate of return is 11 percent. The expected rate of return on the market portfolio is
15 percent. The expected rate of growth for th; dividend of firm Z is 8 percent. The last
dividend paid on the stock of firm Z was Rs. 20. The beta of firm 7’s sthek is 1.3.
1. What is the equilibrium price of the stock of firm 72
ii.  How would the equilibrium price change when ( &) the inflation premium increases by 2
percent, (b) the expected growth rate increases by 3 percent, and ( ¢ ) the beta of Z’s
equity rises to 1.5
( 07 Marks)
(Total 20 Marks)




Q2.

Q3.

a)  Explain the three approaches to determine the cost of equity.
{ 04M;

b) A company has on its books the following amount and specific costs of each type of capit

Type of capital Book value Market value Specific costs
{ Rs) ( Rs) (%)
Debt 400,000 380,000 15
Preference 100,000 110,000 18
Equity 600,000 1,200,000 25
Retained earnings 200,000 - 20

i, Delermine the weighted average cost of capital using (a) book value weights an

market value weights.

ii. Can you think of a situation where the weighted average cost of capital would b

same using either of weights?

(08 M

¢) XYZ company currently pays a dividend of Rs.40 per share and this dividend is expect

grow at a 15 percent annual rate for 3 years, then at a 12 % rate for the next three years, a

is expected to grow at 5 percent rate forever, What value would you place on the equity
percent rate of return were required?

! (08 M

(Total 20 Me

fl

a) Briefly explain the theories of capital structure with real world examples.

( 04M

b) Firm X and Y are identical in every aspect except that X is unég:vcrcd while Y is levered.

Coppany Y has Rs. 5 million of 5 percent debentures outstanding. Assume that tax rate is 4
percent, EBIT is Rs. 400,000 and that cost of equity 1s 10 percent.
Calculate the value of the firms, if the M-M assumptions arc met?

( 06 M



¢)

a)

The following data relate, to capital structure of two companies (Apple Ltd and Orange Ltd).

Capital structure Apple Ltd Orange Ltd
Debt 50 % 20 %
Equity 50 % 80 %
Borrowing rate 13 % 13%
Net operating income Rs. 360,000 Rs.360,000

L If you own 2 percent of the common stock ﬁf Apple Ltd. what is your rupec return if the
overall capitalization rate of the company (Ko) is 18 percent? What is implied equity
capitalization rate (Ke)?

ii.  What is the implied equity capitalization rate of Orange Ltd? Whether it is different
from that of Apple Ltd. If so, give the reasons.

( 10 Marks)

(Total 20 Marks)

Distinguish  between “Operating Leverage and Financial | £verage”™  with  appropriate
illustrations,

( 05 Marks)

Grey company presently has Rs.6 million in debt outstanding, bearing an interest ratc of 12

percent. It wishes to finance a Rs. 8 million expansion programme and is considering three

alternatives: '
Alternative | Additional debt at 14 pereent interest
Alternative I1 Preferred stock with a 12 percent dividend

Alternative Il Sale of common stock at Rs. 50 per share
The company presently has 800,000 shares of common stock outstanding and tax rate is 40

percent.

¢

i If EBIT are presently Rs.2.5 million, what would be EPS for three alternatives,
assuming no immediate increase in operating profit?

ii. Develop a break-cven or indifference chart for these alternatives, What are the
approximate indifference points? To check one of these points, mathematically
determine the indifference point between the debt plan and the common stock plan.
What are the horizontal axes intercepts?

L]



b)

d)

iii. Compute the degree of financial leverage for each alternative at the expected EBIT ley
of Rs. 2.5 million.
iv.  Which alternative do you prefer? How much would EBIT need to increase before
next alternative would be better in terms of EPS?
( 15 Mark
(Total 20 Mark
Define the term ‘Agency Problem’, and briefly describe the goals of financial management.

( 04 Mark

AB Ltd. is creating a sinking fund to redeem its preference capital of Rs. 5 million issued
20™ February 2011 and maturing 19" February 2023.The company will make equal paymet
for the funds and expects that it will earn 15 percent per year. The first annual payment willl
made on 20" February, 2011.

Determine the size of the annual pa_vrﬁcnl for sinking fund?

{ 03 Marl

Suppose you borrow Rs. 1, 000, 000, you are going to repay the loan by making equal annl
payments for five years. The interest rate on the loan is 16 percent per year.
Prepare an amortization schedule for the loan. How much interest will you pay over the life
the loan?
( 07 Mar
Assume that it is now January 1, 2011, and you will need Rs. 1,000,000 on January 1, 201
start a business. Your bank compounds interest at a 10 percent annual rate.
i,  How much should you deposit on January 1, 2010, to have the required sum of
1,000,000 on January 1, 20157
ii.  If you want to make an equal payment on January 1 every year, from 2011 through2
to accumulate the required sum of Rs. 1,000,000, how large would cach of the
payments be? ,
iii.  If your uncle were to offer either to make payments calculated in part (i1) or give )
lump sum of Rs. 750,000 on January 1, 2011, which would vou choosc?
{06 Ma
(Total 20 Ma

I



| Important Formulas:

n
LE(R)=Y PR,

1=

-
2 o= LY R -EC)E

8 ev=Zx100

=
4. DOL = [( EBIT + FC)/EBIT]

5. DFL EBIT
EBIT — I-[PD/ (1-t)]

6. DOL = DOL * DFL

7. E(Ri)=Rr+ Bj (Rm—Rr)

8, WACC = WdKd ( 1&) + WK+ Weks
9. Ke=D1/Po+g

10. EPS = (EBIT ~ 1) (1-t) — Pref.div.
NS

11 FV oa=PMT [ (1+1)" -1 ]
i

12.FV ap =PMT [ (1+ )" -1 ] ( 1+ 1)

i

13.PV oa= PMT [ (1+i)Y"-1]

i

14.PV A = PMT [ (1+ )" -1 ] ( 1+1)
i
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